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# B FEE |AEETERE| B W i &
I FEFENNSOE
1. BFEFEBNA
O HERRA 60 60 0
1 SZEF)EIMA 50 50 0
= BRI B 50 50 0
2 HEDUA 10 10 0
HMEUL A 10 10 0
@ BAEINA 22, 000 40,200 A 18,200
A S 22, 000 40,200 A 18,200
YNV 22, 000 40, 200| A 18,200
EETEBINAG 22, 060 40,260] A 18, 200
2 EEIEEXH
OF-===-53.u 11, 560 7, 850 3,710
1 BRIEAE 0 20 A 20
EERFIE 0 10 A 10
EHEEE 0 10 A 10
2 MERBEXH 100 100 0
WERBE 100 100 0
3 BEEREXH 170 150 20
Eaak 50 50 0
EihE 120 100 20
4 BEREARIH 1, 000 1, 000 0
T INE R 500 500 0
BEEHIERE 500 500 0
5 {EFEEA#R R B H 1, 000 2,100 A 1,100
HEAT 2 L& 1, 000 2,100 A 1,100
6 HEERE M 120 100 20
HEERLE 120 100 20
7 ENRISAE 3 1, 000 300 700
FIRI A% 1, 000 300 700
8 HEERZH 2, 000 10 1,990
=0y 2, 000 0 2, 000
HER) — R 0 10 A 10
9 fREREISH 10 10 0
PRERABE 10 10 0
10 FE#HE&H 10 10 0
B e 10 10 0
11 A EZH 50 50 0
WHNE 50 50 0
12 EFEEXZMH 5, 000 1, 000 4, 000
S ¢ 3, 500 990 2,510
REH: B IRE R 1, 500 10 1, 490
13 #EXH 1,100 3,000] A 1,900
M 1, 100 3,000 A 1,900
© FHEIH 300 2,210 A 1,910
1 SEEH 0 10 A 10
WEE 0 10 A 10
2 BARIEABRZH 0 20 A 20
EERRE 0 10 A 10
BREAE 0 10 A 10
3 JHEMBXH 60 60 0
R E 60 60 0
4 FIRISAE S H 50 50 0
RIS A2 50 50 0




(A DHR) (EfHr : M)
B B THE |EETERE| #© W g =
5 EfEE > H 100 2,000 A 1,900
E353 ¢ 100 2,000 A 1,900
6 FMBAEIH 20 20 0
MABAFR 20 20 0
T HEXH 70 50 20
M 70 50 20
EEEESCHE 11, 860 10, 060 1, 800
BEEBIN K ZRA 10, 200 30,200 A 20, 000
0 HBEFENZOH
1. BEEBIRA 0 0 0
BREIEBNNAG 0 0 0
2 . HEIEESH
O BEEERSEXH 10, 000 30, 000] A 20, 000
1 8 EREAZH 5, 000 5, 000 0
254 S A\ 3 H 5, 000 5, 000 0
2 EERME M 5, 000 25,000| A 20, 000
EERIEZ M 5, 000 25,000( A 20, 000
BRI HE 10, 000 30, 000] A 20, 000
BEIEENIN L Z=RE A 10, 000 A 30, 000 20, 000
M MABIEENNZ O
1. MHBIEBEIA 0 0 0
A BIEENI AR 0 0 0
2 EIEE S 0 0 0
M EBTEEI X HET 0 0 0
BT EII R 2R 0 0 0
IV FHEEXH
FiEE X H 200 200 0
FHE 200 200 0
WHIIN R Z2%E 0 0 0
BTHAARR I X 2558 0 0 0
R MR I 32 25 %8 0 0 0
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A = FTEE |AEETEFE| B MW -
I EERBINZOH
1. HHETBEIRA
O© FERA 418, 810 418, 810 0
1 F=EINA 220, 000 220, 000 0
5= 1PN 220, 000 220, 000 0
2 BEEMEINA 75, 000 75, 000 0
ERRE R 59, 000 59, 000 0
BT E IR 12, 000 12, 000 0
7K E B 4, 000 4, 000 0
3 A—VIA 92, 000 90, 000 2, 000
R—VILA 92, 000 90, 000 2, 000
4 SEE=EINA 20, 000 22,000 A 2,000
SEEIA 20, 000 22,000 A 2,000
5 ELEIGINA 9, 300 9, 300 0
EFEFINA 9, 300 9, 300 0
6 FHEHRA 2, 500 2, 500 0
FHEHRA 2, 500 2, 500 0
7 FDMBERA 10 10 0
F D MHENTA 10 10 0
@ HEA 20 20 0
1 ZEHR]EINA 10 10 0
ZEURLE 10 10 0
2 HENA 10 10 0
HEMUA 10 10 0
EEEHNAZ 418, 830 418, 830 0
2. FETETH

O EBEEXM 203, 490 197, 880 5,610
1 kRl FEYSXH 19, 900 19, 900 0
TeRlEY 19, 900 19, 900 0
2 BREESH 10 10 0
BRFEES 10 10 0
3 BHEAEZH 3, 100 3, 200 A 100
LEBEFE 2, 500 2, 400 100
BFIELEE 600 800 A 200
4 RERBEEIH 100 100 0
BB 100 100 0
b WfEEMRE XM 420 420 0
ERa At 180 180 0
L 120 120 0
EiRE 120 120 0
6 VHEEMERE N 950 240 710
HEEMN2RE L E 950 240 710
7T EFERE X 1, 500 1, 400 100
HFEME 1, 500 1, 400 100
8 EHEE M 10, 000 10, 000 0
B35 10, 000 10, 000 0
9 FIRIBAZEZH 700 700 0
R A 2 700 700 0
10 BB X H 52, 500 43, 500 9, 000
BITE HE 31, 000 27, 100 3, 900
HRE 9, 500 7, 400 2,100
KIER 12, 000 9, 000 3, 000




(g DHER) (BA7 2 )

# H TR |IEETHEME| H OH i 5

11 B H 13, 000 23,200 A 10, 200
Has U — 2k} 13, 000 23,200 A 10, 200

12 fRBRB = H 1, 600 1, 600 0
PR 1, 600 1, 600 0

13 BRIBIRFRIRE X H 16, 000 14, 400 1, 600
BIERT SRE 16, 000 14, 400 1, 600

14 FEHE&EIH 10 10 0
FEHTE 10 10 0

15 INEELEX M 1, 800 1, 800 0
RS BELE 1, 800 1, 800 0

16 A & H 500 500 0
WL E 500 500 0

17 FARLAER > H 100 100 0
FBARR 100 100 0

18 B#H&ETH 200 200 0
A& 200 200 0

19 BFEEXH 77, 600 73, 600 4, 000
L ERERELE 47, 000 43, 000 4, 000

R— VIS PRI 15, 000 15, 000 0

Bl LitE 15, 600 15, 600 0

20 ZHAFLR T H 500 0 500
XHF) R 500 0 500

21 X H 3, 000 3, 000 0
MEE 3, 000 3, 000 0

@ THEXH 156, 930 155, 230 1, 700
1 & BB H 17, 000 17, 000 0
%= B 17, 000 17, 000 0

2 FRFEHM 25, 000 25, 000 0
fertFEY 25, 000 25, 000 0

3 wBHEALAETH 5, 800 5, 400 400
HEEFE 5, 000 4, 800 200
BRIEAE 800 600 200

4 SEEIH 200 200 0
SHmE 200 200 0

5 MERBEEXMH 900 1, 000 A 100
REREE 900 1, 000 A 100

6 EEERE N 320 320 0
B ekt 200 200 0
R 20 20 0
EiRE 100 100 0

7T EFEAERE R E X 300 300 0
HEFEEM AR 300 300 0

8 VHEEME XM 400 400 0
HEELE 400 400 0

9 [EREEXH 5, 000 10,000 A 5,000
(E352= 5, 000 10,000, A 5,000

10 FIRI A% 32 120 120 0
R S A 2 120 120 0

11 Bk X H 10 10 0
BRI 10 10 0

12 Y BB R XX 9, 310 8, 100 1,210
EBITENE 5, 500 5, 100 400
HRAE 1,710 1, 320 390
KiEE 2, 100 1, 680 420

13 BFHEE X H 100 100 0
e 100 100 0




(I 2E DEB) (BAr : FH)
7t = TEE |AEETEE| B W -
14 EfEEI 1,010 1,010 0
FE 10 10 0
e U — Rk} 1, 000 1, 000 0
15 ¥V E 1, 040 1, 040 0
W& 1, 040 1, 040 0
16 RIEHRTRREXH 1, 420 1, 420 0
BRIGIRT RARE 1, 420 1,420 0
17 & 1, 400 1, 310 90
e 100 10 90
s 1, 300 1, 300 0
18 BRI 75, 000 70, 000 5, 000
BN 75, 000 70, 000 5, 000
19 BH&XH 200 100 100
AHE 100 100 0
heFA#EE 100 0 100
20 ZFLE XM 11, 400 11, 400 0
A EBERESEE 7, 200 7,200 0
LSS = g 4, 200 4, 200 0
21 M 1, 000 1, 000 0
i g 1, 000 1, 000 0
® BAEXZH 34, 200 56, 100] A 21,900
SEFHEAEH 34, 200 56, 100 A 21,900
IRIRAE TS YEEERA 3, 200 3, 900 A 700
SEHRA & 9, 000 12,000 A 3,000
NIZFHRAE 22, 000 40, 200] A 18, 200
EEEE X HE 394, 620 409, 210] A 14, 590
HERBNIN X EFE 24, 210 9, 620 14, 590
I BEEHNZOE
1. BEEEINA
O HEEERR A 56, 000 10, 600 45, 400
R WEBR SR TEETRR A 56, 000 10, 600 45, 400
RGN ER LA TEERFINA 56, 000 10, 600 45, 400
® #H& - RIELRED A 10 0 10
REEERE Y LA 10 0 10
RIEE RV XA 10 0 10
BRETEBIAG 56,010 10, 600 45,410
2 BREIREI
D %E%Fzﬂiﬁéiﬂj 200 200 0
1 BUMERG M4 & ERE X H 100 100 0
TAREEN S M4 & X 100 100 0
2 RIEUEREELEERSXH 100 100 0
RIFERESELEER 100 100 0
©® BEEERSEXH 63,010 18, 010 45, 000
1 25EmEAXH 3, 000 3, 000 0
112500 L EE A H 3, 000 3, 000 0
2 EVEREXH 60, 000 15, 000 45, 000
EER B X H 60, 000 15, 000 45, 000
3 HEWEEAX M 10 10 0
L ER B A 10 10 0
@ H& - RiEEXH 10 10 0
PREE S H 10 10 0
RIE& T H 10 10 0
BEEE X HE 63, 220 18, 220 45, 000
REEHIN K EHH A 7,210 A 7,620 410




(IR 2E DHR) (BAL : FH)
~ # = FEFE |(AEETEHE| B W H =
M FMEIEENNE DO
1. FABIEEIRN 0 0 0
ARSI BN E 0 0 0
2 . BIEE X H 15, 000 0 15, 000
V — ZRMEFRFE X M 15, 000 0 15, 000
V) — R EREFE X H 15, 000 0 15, 000
BTSN X & 15, 000 0 15, 000
M BETR BN X =5 A 15, 000 o] A 15,000
IV TEEXH
FleE X H 2, 000 2, 000 0
THE 2, 000 2, 000 0
AN X SR 0 0 0
BTSRRI T =5 0 0 0
IR RN S 225 0 0 0




